1995 4E A ([ 3]

y=—x3+ax?DHt, -t} +at) eI 2 EoORIL, y=-"3x*+a LV y
A
y=(3t? +a)(x—t)—t> +at=(-3t? +a)x+2t° o
q
FUS ORI 2HHR 11X, y=axTh D,
|78y it 2 723 fa % 0 &‘Téttanezi‘(\ y = ax
OPMNyHHE 2T MAIX20 THDHMNDH, azldD L X
P
= 0
tan26 = 2tan29 -—a_ - 22a g
1-tan’9 . 1 a®-1 R
a’ 0 AN
2
oPpity=2 _1xf“&>50 a=10t &, liXy=x, OPlLy=0ToHoO1H, a=1THIL,
2_
y= a2a lx Ly=-x} +axDFE LIS O S RO D &
2 . 2 2 2
-l rax 4|2 1 2 x=xd A et
2a 2a 2a 2a 2a
3
2 2 2
x>0k cx= 1 —nrv. QommE|o 2[5‘ +1J
2a 2a
3 2 )
1 [a?+1 (a®?+1)2 1(a?+1 1 1
2 2a 2a 4 a 4 a
S(a)eia+§7ss‘ﬁ%d\@&%%/bc:fmo
HEY) - AT EH ORI L Y a+§§2 a%:z AL azé a?=1 -a=1

PLEICkY, S(@)iza=1n s E&R/MELZ L D, - (&)



